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PART A

History & Culture

1. Vijnanesvara wrote Mitakshara at the court of
the Chalukya emperor Vikramaditya VI. It
was

A commentary on the law book of
Yajnavalkya

2. Which of the following pairs is not correctly

matched ?
(Traveller) (Reigning Ruler)
I-Tsing (Yijing)  Ashoka

3. Which of the following pairs of temples and
places is not correctly matched ?

(Temple) (Place)

Virupaksha temple Thiruvananthapuram

4, Identify the Sultan of Delhi who prohibited
drinking of alcohol, introduced market control
policy and inflicted severe punishment to
rapists.

Sultan Alauddin Khalji
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b.

6.

Point out from the following sufis, who is from
the Chishti Sufi Silsilah ?

Shaikh Gesudaraz

The First Round Table Conference was held at
London in 1930 to discuss

Future Constitution in India

Muhammad Ghori’'s forces won the battle
fought against Prithviraj Chauhan primarily

because of

Superior war technology of the Turks

Third Battle of Panipat was fought between

Ahmad Shah Abdali and the Marathas
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9. In January 1565, the Battle of Talikota was
fought between
The Vijayanagara Empire and the

10.

11.

12,

Deccani Sultanates

Name the Rana of Mewar who employed

Baksariya Muslims in his army :

Rana Pratap

In medieval Deccan, Deshmukh was a village

official, who was responsible to

Collect land revenue from the peasants and to

deposit it in the State treasury

In which year was the Rail network started

from Bombay to Thane ?

1853

(6)
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13.

14.

15.

Chronologically  arrange the  following

Governor-Generals of India.

Select the correct answer from the code given

below :
(i  Lord Wellesley
(i) Lord William Bentinck

(iii) Warren Hastings
(iv) Lord Cornwallis
Code :

(ii1), Gv), @), (i)
Arrange the following rulers of Gupta dynasty
in chronological order :
@ Chandragupta II
(i) Skandagupta
(iii)
(iv)

Select the correct answer from the code given

Samudragupta

Kumaragupta I

below :
Code :
(i), @, Gv), (1)
The poet Bana was patronized by which of the

following rulers ?

Harsha

(7)
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16. When did Portuguese admiral Vasco da Gama

come to Calicut ?

1498

17. Which of the following pairs is not correctly
matched ?
(Event) (Year)
Montagu-Chelmsford Reforms 1929
18. When did the French gain control over
Pondicherry ?
1697
19. Who introduced the silver tanka and the
copper jital — the two basic coins of the
Sultanate period ?
Iltutmish
20. Who propagated pushtimarga, a religion of

grace ?

Vallabhacharya

(8)
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21.

22.

23.

Match List I with List IT and select the correct

answer from the code given below :

List I List IT
(Monument) (Place)

a. Char Minar L. Delhi
b. Akbar’s Tomb II. Agra
¢. Humayun’s Tomb III. Hyderabad
d. Taj Mahal IV. Sikandara
Codes :

a b c d

11 v I II

After 1857 revolt, Bahadur Shah Zafar, the

last Mughal ruler of India, was exiled to

Rangoon

Which of the following rulers of Mysore sent
ambassadors to France to bring in European

technology, and went on to build a navy ?

Tipu Sultan

(9)
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24.

26.

26.

27.

Who said that, “Nothing can emancipate the
outcaste except the destruction of the caste
system” ?

B.R. Ambedkar

Who wrote ‘Why I am an Atheist, defending
total rejection of all religion on grounds of
human dignity and rationalist logic ?

Bhagat Singh

Why was Doddi Komaraiah, a village militant,
murdered on 4 July, 1946, in Janagam taluka
of Nalgonda ?

For trying to defend a
washer-woman’s mite of land.

poor

In the Indian context, ‘Drain of Wealth’ means
foreign power in India
through
transferred it to their native country. This

squeezed Indian

economy various means and
‘surplus’ capital caused ‘industrial revolution’
in their country.

Which of the following foreign ruling powers is
associated with the above theory of ‘Drain of

Wealth’ ?
British

(10)
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28. Who from the following were associated with | 28,
Subhash Chandra Bose’s Indian National
Army and faced the trial in Delhi in 1945 ?
(a) P.K.Sahgal
(b) G.S. Dhillon
(0 Shah Nawaz Khan
(d Bhulabhai Desai
Select the correct answer from the code given
below :
Codes:
(a), (b) and (c) only
29. Whose book ‘Unto this Last’ left a deep impact
on Mahatma Gandhi and he even translated it
. . . 29.
into Gujarati ?
John Ruskin
30. In the early decades of the twentieth century,
caste movements began to proliferate in the
Indian society. 30.
Which of the following movements are
related to caste-consciousness, leading to

caste-movements in particular regions ?

(a) Satyashodhak Samaj in Maharashtra
(b)  Self-respect agitation in Tamilnadu
(0 Ghadar movement in Punjab

(d Bijolia movement in Rajasthan

Select the correct answer from the code given
below :

Codes :
(a) and (b) only
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31.

32.

(12)
PART B
Constitution, Polity, Social Justice and
International Relations 31.

Choose the correct answer relating to the

Supreme Court of India :

All Civil and dJudicial authorities in

India shall act in aid of the Supreme

Court
The Objectives specified in the Preamble
contain the basic structure of our

Constitution. In this regard choose the correct

answer -

Basic structure means that which

cannot be amended in exercise of the
Article 368 of the

power under

Constitution.
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33.

34.

35.

36.

Estimates Committee related to which reform

to ensure the efficiency of the following ?

New Legislation reforms

Most important components of secularism are

mentioned below, except

Not
persons/citizen.

applicable to irreligious

Social justice enables the Courts to uphold
legislation, except

To enact unquestionable laws to protect

certain people of the society.

A person whose freedom of movement has

been taken away by imprisonment or

detention does not thereby lose his freedom of

Expression

(13)
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317.

38.

Regarding the Habeas Corpus, choose the

wrong answer.

A petition of Habeas Corpus lies against the

executive authority, not available

against the private individuals.

Regarding the Directive Principle of State

Policy, choose the wrong answer.

Parliament cannot amend Fundamental
Rights for implementing the Directive

Principles.

(14)
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Regarding the Governor, all following
statements are correct, except
Governor shall quit his office

immediately after expiry of his term.
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40.

39.

The orders passed by the Governor of a State
(Article 163) of a State fall in four categories.
Find out the category which is not subject to

Judicial Review.

Where the Governor acts without the aid
and advice of the Council of Ministers

and acts in his own discretion
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Regarding the Union Council of Council of

Ministers, choose the wrong answer.

the National

Emergency,

period  of
the

discretionary powers,

During
President acquires
and can take

independent decisions.

The Preamble may be invoked to determine

the ambit of
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Fundamental Rights and Directive

Principles

43. Regarding the Article 15 of the Constitution of

India, find the wrong answer.

Article 15 permits the State to make

special provision for women and

children.
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Which of the following are mnot the federal

features of the Indian Constitution ?

Office of the Governor

What option does the government exercise and
legislators have when they do not like a

decision made by the Supreme Court ?
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46.

44.

45.

Both are options, pass a constitutional

amendment that circumvents the
decision or pass a law challenging the

decision

Regarding the disagreement between the two
Houses of the State Legislature, which of the

following is correct ?

The only power of the Council is to
interpose some delay in the passage of
the bill
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Choose the correct answer from the following :

A member of an All India Service can be
dismissed or removed only by the Union

government.
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48.

47.

(18)

Regarding the powers of the President, which

of the following is correct ?

Courts are debarred from invalidating
any legislation on the ground that the
President’s previous sanction was not

obtained.
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Match the following :

a. Reprieve L Reduce the amount of

sentence without
changing its character

b. Respite I substitute one form of

punishment for other

of a lighter character
¢.  Remission II1. Awarding lesser
sentence

d.  Commutation IV. o stay of execution of

sentence

Codes :
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v II1 I II

50. Regarding the pardoning powers, choose the

correct answer.

The only authority for pardoning a

sentence of death is the President.
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A sitting of the Parliament can be terminated
by adjournment, prorogation or dissolution. In

this regard choose the correct answer.

Adjournment sine die means
terminating a sitting for an indefinite

period.

Which of the following Liberties is sought to
be secured to the citizens of India in the

Preamble ?

Thought, expression, belief, faith and

worship
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53.

51.

52.

53.

Recommendations for the 14t Finance

Commission are valid from

1% April 2015 to 31°* March 2020
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(20)

54.

55.

Which of the following bodies concerned with

Inter-State relations are Constitutional ?

Inter-State Council

M.M. Punchhi Committee was appointed to

study Centre-State relations. Regarding
Punchhi recommendations all the following

statements are correct except

National Integration Commission shall

meet once in two years
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54.

55.
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(21)

56.

57.

Regarding the composition of the Legislative
Council, all following statements are correct,

except

1/13%h of the total number of Council

shall be elected by Legislative Assembly.

The President may appoint a Governor of a
State as the administrator of an adjoining
Union Territory. Such Governor in the

administration of Union Territory shall

exercise his functions

As such administrator independently of

his Council of Ministers.
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60.

Parliament has the power to enact laws with
respect to a matter in the State list in the
national interest. In this regard choose the

wrong answer.

Both Union and State governments have
absolute freedom to make laws related

to Concurrent list.

Due to the existence of which article, the State
cannot interfere and dispossess a person’s
property except in accordance with the

procedure established by law ?

Article 330A

State Government can pass a law imposing
restrictions on goods imported from other
States. Such law shall be moved in the
Legislature of a State without the previous

sanction of the

President
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PART C

Indian and Andhra Pradesh Economy and
Planning

61. “Sustainable Development is the development
that meets the needs of the present without
compromising on the ability of future
generations to meet their own needs.” Who

has given this definition ?

Brundtland Report (1987) by World

Commission

62. Out of the options given below, what should be

the basic goal of “Sustainable Development” ?

Equality, inclusive growth

63. Which is the curve that explains the
relationship in between economic growth and

environmental degradation ?

Kuznets Curve

61.

62.
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64.

65.

66.

67.

According to 2010 Human Development Index
calculated (Compiled and Computed from
UNDP Human Development Report) for 169
countries, what is the rank of India ?

119

What is the approach followed by National
Institution For Transforming India Aayog in

the economic policy making ?

Co-operative Federalism

Though

mentioned as one of the objectives of economic

removal of unemployment is

planning in all Five Year Plans, from which
plan onward is serious concern shown for

solving the unemployment problem ?

Fifth Five Year Plan

Which of the following statements is incorrect
o

About 60% of agricultural lands have
irrigational facilities.

(25)

64.

65.
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68. To enhance food security and to make Indian | 68.
Agriculture more resilent to climate change,

which programme was started in 2011-12 ?
National Mission for Sustainable
Agriculture
69.
69. Which sector comprises water supply ?
Secondary Sector
. . - . 70.
70. What is the main objective of 12th Five Year
Plan ?
Faster sustainable inclusive growth
71. Among the following National Income 71.

Concepts, find out the correct one :

Gross Domestic Product at Market Price
= Gross National Product at Market

Price — Net Income from Abroad
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72. What is the method used to calculate chronic | 72.
unemployment ?
Usual status unemployment
73.  According to the NSSO 68th round, what is the 78.
rate of unemployment in India based on usual
status unemployment method?
5-6%
74. In India, in which year was the “Special 74
Economic Zone” policy announced ?
2000
75. According to United Nations’ Millennium
75.

Development Goals Programme (2011-2012),
what is the percentage of population below the

poverty line in India ?

21-9%

égsvé)s 1)608565 QD[ FodedS E
DES Y4
Jrdes DHE 509 ?863

AD.DD.ID.4. 685 SGwo VS0 FEEEE
:)do85n DA 900D EBBP 363856
{om{oé oed?

5-6%

VBE 408 " oy EBBF0ST D
RoDB G0 PDFDYEC0H?

2000

ABJBE DDy Ok LLIANNARIIECS
Foraw (2011-2012) 560 DEBOE B
800 &) ePEBAD BT Joch?

21-9%
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76.

71.

78.

79.

At present with which name is Swarnajayanti

Gram Swarozgar Yojana (1999) implemented ?

Aajeevika

What 1s the “Mission

Indradhanush” launched in 2014 by Central

basic goal of

Government ?

Immunization

In relation to Andhra Pradesh, which of the

following applications has received CSI

Nihilent Best e-governance Award during the

year 2017 - 18 ?
D-Krishi

Which organization launched Rupay card ?

NPCI

(28)

76.

77.

78.

79.

QB0 A(GRoDBd T DEOE o
AIrad (1999) D DS wdend® &od?
B3RIS°

2014 & Sog LS ITye0 BVD” WD
QOFR0Q" YT VEFDOED?
fannz@e?,aﬁ
€30¢) QHOBY D20500¢5° $o& ToedeS° PRIERN
0.8, JrTot) R-(158) DD &G
GO0 2017-18 20.65° FencidEod ?
&G-Sy
A 20 o S0 FEoDood?

25.2.2.0. (NPCI)
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80.

81.

82.

83.

Which is the program that has the theme “One

Nation — One Scheme” ?

Pradhan Mantri Fasal Bima Yojana

During which period did India have

continuous current account surplus ?

2001-04

What is the maturity period of treasury bills

issued by Government of India ?

91, 182 and 364 days

Which of the following statements is not
correct regarding Basel III implementation in
India ?

Minimum Tier 1 capital ratio should be
8%

(29)

80.

81.

82.

83.

208 B%0 - 28 W) 0” 0D Frrdd 0do?
DEPIR0E DS D Brasd
(Pradhan Mantri Fasal Bima Yojana)

PSSR F0eS” :ooéébve)éﬁ QoPer0s 9OE
Z)c:nzgé DEHT° 2000607
2001-04

S Do Gab DLOOACS 2y VO3S
SPOD0eH?
91, 182 S06a3 364 Feren

2PEBB0e5° €365 111 e9:0e0e5° EoddTeDS
308 DG :J"s*;se)eSs 6 Dy

FOLRA B DIOY) QS 1 seees Z)que;? 8%
&ote®
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84.

85.

86.

Which of the following in general is eligible as
a borrower under National Rural Livelihood

Mission NRLM) ?

Women self-help groups

What is the objective of National Credit Fund
for Women, launched by Government of India

in the year 1993 ?

To meet the asset needs of poor and

assetless women in the informal sector

According to 2014 Reorganization Act, after
the bifurcation of the State how many revenue

divisions are there in Andhra Pradesh ?

50

(30)

84.

85.

86.

DOHS BroS G TVE WD 00D ey
DETEIS & o T0S” WHSHE?
DODH  DIFoo DEEo Fod IV

RDOTPLD

1993 & ersapso
DS §&ES Do& SEAL Doed?

s.ge)g ‘gﬁ)oi)é

D G0 GINDGTO  9DVT O,
DAL GorioeS’ D estrdo S Jo

29XITOID édbwo

2014 & Dgfardodto @ogHBT & Y

63&'1?5 &Da@a ea"‘looo?

50
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87.

88.

89.

90.

After bifurcation, according to the suggestions

of NITI Aayog who has to take the
construction responsibility of Polavaram
Project ?

State Government

Recently announced South Coastal Railway
zone comprises of

Guntakal,
divisions

Guntur and Vijayawada

What is the name of the project launched with
the objective of computerization of Urban,
Local bodies ?

E-suvidha

Which district in Andhra Pradesh has the
largest area under food crops ?

Krishna

(31)

87.

88.

89.

90.

DD ST HA ed@rh HUPL BB
“Veod6o F 8L QB otrdyod DDE?

mg@eﬁaéso
adde PEBoswg AS £S5 gd( &I &

(0S5, (oIPED, DBOIETCE Coad2id

D, DY FIE FoTrw  SoRT(BBE
RV IS 860DoDRCD FBEL I6?
&-200¢ (E-suvidha)

BogHAT S D B BTG GAYIVD
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PART D
Geography 91.
91. Match the following List I with List II

92.

93.

94.

(Northern hemisphere) and choose the correct
answer.

List 1 List IT
Winter solstice I. December, 22
b. Summer solstice II. June, 21

II1. March, 21
IV. September, 23

c.  Vernal equinox

d. Autumnal equinox

Codes :
a b c d
I II 111 v

The boundary between crust and mantle is
discontinuity.

Moho

The bottom topography of an Ocean can be
shown by

Hypsometric curve
Yellowstone National Park which is famous
for geysers/hot springs is located in

USA

92.

93.

94.

S0 08 1 & D Qs 1l (g0
esgﬁ"%)ese RHDGH0E.

08s 1 0L 11
a. HOsPe0 I. &0, 22
. QOTrS*V0 II. 2,21
c. Bood DB 1L 28y, 21

A 360D IV, 3Poead, 23

a b c d
I 111 v

SR © o83 L 20csg AT D Y
s

Febb)
BI°D

2L
&

3D 88D Rerg8 e
.

rey

0RO6Y/DES efOHPDE TodD DRV
T8 RIS FE); A& &od ?
a30.0.9.
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95. Which one among the following is a Volcanic | 95.
Mountain ?
Mt. Etna
96.
96. Which one of the following lakes is not part of
the Great Lakes of North America ?
Victoria
97.
97. Consider the following two statements and
choose the appropriate answer :
A. Gorges and Canyons represent
V- shaped valleys.
B. Gorges are the extended forms of
Canyons.
Both A and B are correct
98.
98. Arrange the following constituents (in terms of

their quantity) in the atmosphere in

descending order :

Nitrogen, Oxygen, Argon, CO,

S0t TS 9f DO DO ?
aea*’;)' :stéo

GBS VROSL BodD Ty BewHY” w8
52036 ?

B3>
e

808 Bochr PELD WPV A VAT
docE oS :

A ™BR, DDy D 5760 (fo) SPood
SV T°0D
B. sm‘()oix%b ABooE); DOBETSY S VLo ™3
() (3}

2,0 Botire DJDD

30 A TTHCES T DOIPEF)
0 ITLRe g0eS”

DB, w8y, e, COy
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99.

100.

101.

102.

103.

Which of the following statement/s rightly
explain/s about tropopause ?

@) Seasonal variation occurs in the height
of tropopause.

(1) It is the transition zone between
troposphere and stratosphere.

(i) It lies below the stratosphere

(1) and Gi)

Wind in the northern hemisphere is deflected
towards right due to

Rotation of the Earth

Doldrums extend on both sides of

Equator

The Suez Canal connects

Mediterranean Sea and Red Sea

Which of the following is not a warm ocean
current ?

Humboldt Current

(34)

99.

100.

101.

102.

103.

g0 T J psLd/e VO IR
(12800 DHOR0E/ DHBIAN
() EPPD IB0S” e0POS” DB E DN,
(i) ' V°FD, ges%»fo © BG5S E'D.
(ii1) & .gpef TR £ Socd Gotod.

() 55005 (i)

G306 08FTS'D M Tothore HADDD
DBHEeAS sPEt0

Z35°00 HHdo

DByRS0E” Both DTN DYOOTOW
goeducsy S

AIP0IPE BPeD DD Ee0DB0d
EEBIONS DAWG0, g9 DG

S0 TAS” DHD JBFRINEG QIR

2R ?
<0eS° eé
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104. Which among the following has the highest|104.
albedo ?
Snow
105. Zulu tribes are found in 106.
South Africa
106. Match the following : 1086.
List 1 List IT
(Crops) (Chief Producer)
a. Barley I. Karnataka
b. Groundnut II. Uttar Pradesh
c. Ragi III. Gujarat
d. Rice IV. West Bengal
Codes :
a b c d
II 111 I v
. . . .. |107.
107. Which one of the following Islamic countries is

predominantly of Shia sect ?

Iran

300 OGS B ¥THE D6 ?
(1) oo

2re G5y ) cootron ?

5863 e8P
80T Sodod :
0es 1 0 1T
(Doerev) (e9e3(QS €se3y¢3)
a. erf I ggres
b, D3 1. &30 D33
c. ©°A L. oS
d. 6 IV. 03y Sorrew
&y
a b c d
11 111 I v

800 AP T’ JE) ¢ D0 B JLD
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108.

109.

110.

111.

112.

Karaganda basin is famous for

Coal

Danube river flows into

Black Sea

The ‘Hottentots’ are

Nomadic pastoralists of South Africa

There is a place A with longitude 060° West.
There 1is another place B with longitude
090° East. If, local time at place A is 10 a.m,
what would be local time at place B ?

8 p.m.

Identify the pair that is not correctly matched

Satellite Navigation =~ Owned by
System
GLONASS United Kingdom

(36)

108.

109.

110.

111.

112,

$650¢ 8300 A3 Qi’og ?
S
BB D D A0S Ee0od ?
g8 Dadgo
F TN e)"esb 9D
(A}
G563 e3DS° KO WA 0TS 2B SPDED
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113. Which one of the following pairs is not
correctly matched ?

Dam/Lake River

Kolleru Lake Krishna

114. El-Nino is a complex weather system that

appears once every three to seven years.

Consider  the following statements in this
regard :
A.  The appearance of warm currents off the

Coast of Peru in the Eastern Pacific.

B. The word El-Nino means ‘Christ Child’
because the current appears around
Christmas in December.

C. El-Nino was one of the reasons for the

deficit rainfall in India (2014).

Which of the statements given above is/are

correct ?

A, Band C

115. Israel has common border with

Lebanon, Syria, Jordan and Egypt

(37)

113. 800 e DO 28 SeIEAR & ?
&I /3e) S&

£ Bedd) 92

114, & — S §3D00 TPTHEE DFO WG ¢
e (@)
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116. A country with a crude birth rate of 44 and a |116. 28 &% VAN ‘Q)egc‘é Sen 44, S0 ﬁee.a)..)é

crude death rate of 11 would have an annual Sear 11 evond, ‘bobébd e Eex

rate of natural increase of

3.99% doeh ?

3-3%
117. Which of the following groups of countries is

. . N
arranged in descending order of area ? 117. Z)?_ggéesé B HEeS® Y gD

S &
Russia, U.S.A., Canada, China
ST 3Teagi0e’ ey 0w ?

118. Which is the mountain between the Black Sea dasz’ SRE, oI AR.D., B
: 2
and Caspian Sea ° 118, gr§  d0gedd ??030:535 005°AS8

Caucasus

206550DY B0 6 ?

119. Sierra Nevada is the name of SPER
A mountain in America 119. HorRdaees 9D 5
9D005°e5°D) 2u8 B0

120. Which of the following is not a coal field ?
120, $00 TPOS” O JweS'H s

S30002T°R)

Mosabani




